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B. A. (Part II) EXAMINATION, 2021 

MANAGEMENT  

Paper Second 

(Statistics) 

Time : Three Hours ]  [ Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- lkaf[;dh dh ifjHkk”kk nhft,A blds dk;Z ,oa egRo dh foospuk 

dhft,A  

Define Statistics. Discuss its functions and importance.  

vFkok 

(Or) 

izkFkfed leadksa dks ,df=r djus dh dkSu&lh fof/k;k¡ gSa \ buesa ls 

dkSu&lh fof/k vPNh gS vkSj D;ksa \ 

What are the methods of collecting primary data ? Which of 

them is better and why ? 
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bdkbZ&2 

(UNIT—2) 

2- dsUnzh; izof̀Ÿk dh eki ls D;k vfHkizk; gS \ blds D;k mís’; ,oa dk;Z 

gS \ vkn’kZ ek/; ds xq.kksa dks le>kb,A  

What is the concept of measure of Central Tendency ? What 

are its objectives and functions ? Explain the properties of a 

good average.  

vFkok 

(Or) 

fuEufyf[kr Js.kh dk lekUrj ek/;] cgqyd rFkk e/;dk Kkr dhft, % 

vk; O;fDr;ksa dh la[;k (f) 

100—200 15 

100—300 33 

100—400 63 

100—500 83 

100—600 100 

Find out Arithmetic Mean, Mode and Median of the 

following series : 

Income  No. of Persons (f) 

100—200 15 

100—300 33 

100—400 63 

100—500 83 

100—600 100 
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bdkbZ&3 

(UNIT—3) 

3- vifdj.k ls vki D;k le>rs gks \ vifdj.k dh fofHkUu ekiksa ds 

lkisf{kd xq.k o voxq.kkas dk foospuk dhft,A  

What do you understand by Dispersion ? Discuss the relative 

merits and demerits of various measures of dispersion.  

vFkok 

(Or) 

fuEufyf[kr vkof̀Ÿk&fooj.k ds fy, ek/;] izeki fopyu ,oa bldk 

xq.kkad ifjdfyr dhft, % 

oxZ vkof̀Ÿk 

50—55 22 

45—50 29 

40—45 31 

35—40 47 

30—35 51 

25—30 70 

Calculate mean, standard deviation and its coefficient for the 

following frequency distribution : 

Class Frequency 

50—55 22 

45—50 29 

40—45 31 

35—40 47 

30—35 51 

25—30 70 
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bdkbZ&4 

(UNIT—4) 

4- dkyZ fi;lZu lglEcU/k xq.kkad dh ifjHkk”kk nhft, rFkk bldh lhek,¡ 

crkb,A blds xq.k&nks”k Hkh fyf[k,A  

Define Karl Pearson’s correlation coefficient and give its 

limitations. Also state its merits and demerits.  

vFkok 

(Or) 

,d d{kk ds 100  Nk=ksa ds fy, lkaf[;dh (X) ds vadksa dh okf.kT; 

(Y) ds vadksa dk izrhixeu lehdj.k 
3 180

X Y
5 5

 gSA okf.kT; 

ds vadksa dk ek/; 50 gS vkSj lkaf[;dh ds vadksa dk izlj.k okf.kT; ds 

vadksa ds izlj.k dk 
4

9
 gSA   

Kkr dhft, % 

(i) lkaf[;dh ds ek/; vad 

(ii) X dk Y ij izrhixeu xq.kkad 

(iii) lg&lEcU/k xq.kkad 

For 100 students of a class, the regression equation of marks 

in Statistics (X) on the marks in Commerce (Y) is 

3 180
X Y

5 5
. The mean marks in commerce is 50 and the 
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variance of marks in statistics is 
4

9
 of the variance of marks 

in Commerce. 

Find : 

(i) Mean marks in Statistics  

(ii) Regression coefficient of X on Y 

(iii) Coefficient of correlation   

bdkbZ&5 

(UNIT—5) 

5- funsZ’kkad dk D;k vFkZ gS \ funsZ’kkad dh jpuk djrs le; fdu&fdu 

ckrksa dk /;ku j[kuk pkfg, \ 

What is Index Number ? What points should be taken into 

consideration in the construction of index number ? 

vFkok 

(Or) 

fuEufyf[kr vk¡dM+ksa ls fQ’kj funsZ’kkad dh jpuk dhft, % 

en 

vk/kkj o”kZ pkyw o”kZ 

dher izfr 

bdkbZ 
dqy O;; 

dher izfr 

bdkbZ 
dqy O;; 

1 2 40 5 75 

2 4 16 8 40 

3 1 10 2 24 

4 5 25 10 60 
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From the following data, construct Fischer’s index 

number : 

Item 

Base Year Current Year 

Price 

per unit 

Total 

Expenditure 

Price 

per 

unit 

Total 

Expenditure 

1 2 40 5 75 

2 4 16 8 40 

3 1 10 2 24 

4 5 25 10 60 
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